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QUESTION 1

Which node is used to read data from a comma delimited text file?
A. Var. File

B. Data Collection

C. Fixed File

D. Statistics File

Correct Answer: A

QUESTION 2

True or false: only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic.

Highlight records where

@)

A. True

B. False

Correct Answer: A

QUESTION 3
True or false: the CRISP-DM Process Methodology is a linear process.

A. True
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B. False

Correct Answer: B

QUESTION 4
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True or false: the Feature Selection node adds a Model Nugget to the stream.

A. True
B. False

Correct Answer: A

QUESTION 5

A prison system has historical data on prison inmates and wants to find what factors are related to recidivism (return to
prison). What type of model would be used?

A. Segmentation model
B. Classification model
C. Association model
D. Anomaly model

Correct Answer: B
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